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QUESTION 1

Why does a SAN infrastructure need an architectural approach? 

A. to achieve a lower number of switches in a fabric and reduce the number of redundant ISLs in the topology 

B. to provide an architecture for one-to-many traffic patterns 

C. to allow multiple application servers connected to one of the storage sets connected across all the switches 

D. to manage complexity due to flexibility and multiple degrees of freedom 

Correct Answer: D 

 

QUESTION 2

A user requests that a SAN architect designs a backbone SAN using McDATA directors and Edge switches. The user
has some high performance storage systems that need to be accessed by multiple hosts. Where should these storage
systems be connected in the SAN? 

A. to the bottom tier of switches 

B. to the top tier of switches 

C. to the same switch with the host with predominate access 

D. to the core switches 

Correct Answer: D 

 

QUESTION 3

The Continuous Access Storage Appliance (CASA) virtualizes storage at what level? 

A. application level 

B. host level 

C. storage level 

D. fabric level 

Correct Answer: D 

 

QUESTION 4

What is the maximum number of hops in a fabric based on the HP StorageWorks B-Series (Brocade) fabric switches? 

A. 7 
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B. 1 

C. 6 

D. 3 

Correct Answer: A 

 

QUESTION 5

You are using 2 Gb switches connected in a dual ring topology with two ISLs. What is the maximum cross-sectional
bandwidth? 

A. 800Mbyte/sec 

B. 200Mbyte/sec 

C. 400Mbyte/sec 

D. 350Mbyte/sec 

Correct Answer: A 
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